'| E 16 A boy shot a football vertically up with an initial spaed Vo. Whﬂn the ba11 Was 4 _———--_
II {he speed was 0.3 of the initial speed. The initial speed is: Qrouny

|I (A) 8.4 mis (B} 9.3 m/s (C) 4.82 mis (D) 11.7 mis
|II Bl Lo et |
| QAT Which of the following quantities is a scalar quantity? Xy
I" (A) Mass (B) Acceleration (C) Force (D) Velocy,
| _— |
III Q.18 The component of vector A are given as Ay=3m and Ay E; -:-ul'ﬂ"; The magnitude of yeeyq, A -
' | (A) 16 m (B) 5 m ( )-8 & |
| | i
i = : e TR
|I Q.19 In figure, if 2A+B-C =31 then the vector A in unit vector notation is: Bt | ¥ —
| b " = & - & ] n 'E'r |
| (A)3i+2] (B) 41 + 3] (C) 5i-4 (D) 2i+ 3] . |
= - E =3m
|| Q.20 The result of iek is: d | % .I
| (A) i (B) K (©) ] (D) zero |

| Q.21 Given @=6i-10j+4K , then the magnitude of vector a is: |
|

| (a) 15.33i (B) 10.33] (C) 16.3k (D) 124 |
|
| Q.22 Given two vectors a= ﬁi+lﬂj -4k b=4i- ?j+5k then %a+b is: 'I
|| (A) -66 [B] ?|-2]+3k (C) 10i-3] (D) 101 + 3] '|
| T Ty T E
| Q.23Given 3=3i+2j+3k , b=2i-3]+4k then (3eb) is:
| (A) 40 éﬂl 12 (C) 547 - sk (D) 3i+4j— 5k I|
[
"ﬂ.ﬂﬁﬂm‘:ﬁ_‘ +§j+315, T 3; +4k, C= 3:-_,r+2.1’c then the vector D =24+ B-C is: :
| (A) 37 +275k (B) 27 + j+3k ©)i+4j+8k (D) —7 —2j+3k
_—
Q.25 Given C= 1l+j+2k and d=i-2j+3k then the angle between vector and d is:
(A) 83° (B) 75° (C) 58° (D) 90%
|1" -

ﬂ;@ﬁ If A and B are vectors with magnitudes 6 and § respectively, and the magnitude of t'heir cross |

Wmszu then the angle between A and B is: |
- (A90° - (B)42° (C) 49° (D) 60°

| Q.27 Vector A is 5 cm lpng and points along the x axis. Vector B is 4 cm long and points at +60° above I.
negative x axis. Determine the sum of these vectors |

(A) 20+ j (B) ~i+3.8k ' () 3.8] +k @31 +35)
.- *_

Q.281f AsB =0, the angle between the vec
(A) 90° {mw g
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Q.1 Kg is the unit of
(A) Force (B) Weight (C) Time

Q.2 A car is traveling at 17 m/s. The speed of this car is equivalent to:

(A) 1.2 km/h (B) 72.3 km/h (C) 97.1 km/h (D) 23.2 km/h
Q.3 A cube of edge 37.5 mm, its volume is:
(A) 0.473 m° (B) 47.3 m° (C) 5.27 x10° m’ (D) 43 m’
Q.4 A train moves with a speed of 55 mile per hour. The speed in S| units is: (Hint: 1 mile = 1610 m)
(A) 32.5 (B) 24.6 (C) 37.3 (D) 42.6
p—t

Q.5 A bicycle travels 15 km in 60 min. its average speed is;
(A) 18 km/h (B) 51 km/h (C) 30 km/h (D) 15 km/h

Q.6 The position of a particle moving on an x axis is given by x =91 +2 - t5 with x in (m) and 1 in (s). The
velocity at 2 s is:

(A) 2 m/s (B) 5 m/s (C) 0.5mis (D) 12 mis
=
| Q.7 Which unit of these is used to measure the distance ?
| (A) mis® (B) mis (C) m (D) kg
—_——‘

Q.8 A car uniformly changes its speed from 5 m/s to 15 m/s in 5 s. The average acceleration is:
| (A) 4 m/s? (B) - 4 m/s? (C) -6 mis? < (D) 9 mis?
-__.—.—'-

(where t in seconds and v is in m/s), has an acceleration

Q.9 The velocity of a train is given by v(t)=56 — 41,

of: -
(A) - 4 m/s® (B) 9.8 m/s” (C) 0.3 m/s? (D) 2 mis’
S —

| Q.10 A particle starts motion at 10 mys. If it moves 20 m in 2 s, its final velocity is:
| (A) 3 mis (B) 5 mis (C) zero (D) 10 m/s

eleration covers the distance between two points 50 m apart in 3

‘ Q.11 A car moving with constant acc
its speed at the first point is:

‘ seconds. If its speed as it passes the second point is 18 m/s,
(A) 156 mis (B) 10 m/s (C) 5 mfs (D) 20 mls
Q.12 A train changes its velocity from 70 km/h to 20 km/h in & s. The distance it covered is:
(A) 9.87 m (B) 15.4 m (C) 206 m (D)75.0m

| Q.13 A speeding car is travelling with 40 m/s when it passes a stationary police car. What must be the
| constant acceleration of the police car be to catch the speeding car after 400 m distance?
(A) 8 m/s® (B) 10 m/s* (C) Zero (D) 20

| Q.14 A car starts from rest with constant acceleration 2 m"? for 4 s. Then, the car continues
constant velocity. How far has the car traveled from its starting f oint? i

=
S )
{1

! (A) 39 m (B)75m ‘
| Q.15 A stone is dropped vertically downwards from ﬁiﬁﬁ

the ground in 2 s, the height h is:
(A) 9.6 m
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Q.1 Kg is the unit of
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(A) Force (B) Weight (C) Time (D) Mass
e

Q.2 A car is traveling at 17 m/s. The speed of this car is equivalent to:

(A) 1.2 km/h (B) 72.3 km/h (C) 97.1 km/h (D) 23.2 km/h
Q.3 A cube of edge 37.5 mm, its volume is:

(A) 0.473 m® (B) 47.3 m’ (C) 6.27 x10° m® (D) 43 m®
Q.4 A train moves with a speed of 55 mile per hour. The speed in S| units is: (Hint: 1 mile = 1610 m)

(A) 32.5 (B) 24.6 (C) 37.3 (D) 42.6

#-—#

Q.5 A bicycle travels 15 km in 60 min. |ts average speed is:
(A) 18 km/h (B) 51 km/h (C) 30 km/h (D) 15 km/h

Q.6 The position of a particle moving on an X axis is given by x =9t +2 t* - t5 with x in (m) and 1 in (s). The
velocity at 2 s is:

(A) 2 mis (B) 5 m/s (C) 0.5m/s (D) 12 mis
=S
| Q.7 Which unit of these is used to measure the distance ?
| (A) mis? (B) mls (C) m (D) kg
'_-—‘

Q.8 A car uniformly changes its speed from 5 m/s to 15 m/s in 5 s. The average acceleration is:
| (A) A m/s? (B) - 4 m/s® (C) -6 m/s? ’ (D) 9 m/s?
'—_ﬂ-'-

|
| Q.9 The velocity of a train is given by v(t)=56 — 4t, (where t in seconds and v is in m/s), has an acceleration

of: g
(A) - 4 m/s® (B) 9.8 m/s’ (C) 0.3 m/s® (D) 2 m/s*®
———

Q.10 A particle starts motion at 10 m/s. If it moves 20 m in 2 s, its final velocity is:
(A) 3 m/s (B) 5 m/s (C) zero (D) 10 m/s

‘ Q.11 A car moving with constant ~cceleration covers the distance between two points 50 m apart in 3
‘ seconds. If its speed as it passes the second point is 18 m/s, its speed at the first point is:
(A) 156 m/s (B) 10 m/s (C) 5 mfs (D) 20 mis

| Q.12 A train changes its velocity from 70 km/h to 20 km/h in 6 s. The distance it covered is:
| (A) 9.87 m (B) 15.4 m (C) 206 m (D) 75.0m

| Q.13 A speeding car is travelling with 40 m/s when it passes a stationary police car. What must be the

| constant acceleration of the police car be to catch the speeding car after 400 m distance?
(A) 8 m/s’ (B) 10 m/s’ (C) Zero Dy2oms
= ' . .

| Q.14 A car starts from rest with constant acceleration 2 nﬂ;&fﬂI‘iE«-Tﬁmﬂﬁﬁﬂ

| constant velocity. How far has the car traveled from its starting pointe

| (A) 38 m (B) 75 m
S Y sl

the ground in 2 s, the height h is: L.
(A) 9.6 m (8)196m

‘ Q.15 A stone is dropped vertically downwards fror ‘E’:‘E? i t |
B
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'|I Q.16 A boy shot a football vertically up W{th an initial speed V. When the bal =

was 4 m above the e
| the speed was 0.3 of the initial speed. The initial speed is: Broung.
'| (A) 8.4 mis (B) 9.3 m/s (C) 4.82 m/s (D) 11.7 mys _
| e "-——-—-...__‘_________ _
I' QAT Which of the following quantities is a scalar quantity? NEW.
I'I (A) Mass (B) Acceleration (C) Force (D) Veiogy,
| AL DRSS

| Q.18 The component of vector A are given as A,= 3m and Ay :‘: :Dmm The magnitude Dfuer.:lnr A i
-' | (A) 15 m (B) 5 m (C)

| " D)-5
|I Q.19 In figure, if 2ﬁ+|§-{i=3i then the vector A in unit vector notation is: %ﬁit‘im__}_"“:---._ |
lir 3i+2] @4+ 3j (C) 5i-4j (D) 2i+3] . I/, ||
2= JEiE3m
|| Q.20 The rasult of ek is: - | 2 ! |I
| (A) i (B) k (C) ) (D) zers |

| Q.21 Given @=6i-10j+4k , then the magnitude of vector a is: |
|

[ (A) 15.33i (B) 1U+33’i (C) 16.3k (D) 12.4 |
I !
[
| Q.22 Given two vectors a@= ﬁi-{-lﬂj -4k b=4i- ?j+5k then %a+b is: .|
|| (A) -66 [B} ?|-21+3k (C) 10i - 3] (D) 10i + 3] I.
| % ) e T - - o] Lo i |
| Q.23Given 3=3i+2]+3k , b =2i-3]j+4k then (3eb) is: |
.' (A) 40 ém 2E (©) 45— sk (D) 3i +4j— sk '|
e L o s 8, I
| Q.2 u"’ﬁ_‘ h&;ﬁh L B=2i-3j+4k, C=3i-)+2k thenthevector D=24+B-C is: |
(A) 37 +275k (B) 27 + j+3k () i+4j+8k (D) —i—2]+3k
L —
ﬂ.ﬁﬁﬁiﬁn E-ll+j+2k and d-i 2]+3k then the angle between vector € and d is:
(A) 83° (B) 75° (C) 58° (D) 90%
= P

26 If A and B are vectors with magnitudes 6 and 5 respectively, and the magnitude of t'heir cross |

"l
MEED then the angle between A and B is: |
(A) 80° o) a2 (C) 4¢° ()68 |

| Q.27 Vector A is5cm long and points along the x axis. Vector B is 4 cm long and points at +60° above |
nageﬁwe x axis. Determine the sum of these vectors

(A) 27+ ] (B) —i+3.8k _ ©) -33}-'+-f | ©) 31 +35]
| el

q..za:fi-an 0 thaanghbﬁmmﬂw
(A) 90°_ i‘BHS"’
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